}E{ @ @ é Negative Exponents of 10 (Power of 10)

Name: Date: Score:
10 = 193.4 x 1002 =
7x10° = 1002 =
5x 1002 = 1 x 100D =
107 = 571.7 + 1072 =
1 x 1004 = 100D =
1079 = 561.9 x 100D =
1072 = 100D =
519.4 x 107 = 2049 = 100D =
100D = 9% 10 =
107 = 1003 =
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}ﬁ{ @ @ é Negative Exponents of 10 (Power of 10)

Name: Date: Score:
107 = 0.001 193.4 x 107 = 1.934
7 % 10* = 700 1072 = 0.01
5x107% =0.05 1x 107V =0.1
107 = 0.001 571.7+ 1072 = 57170
1 x 107 = 0.0001 1077 = 0.1
107 = 0.0001 561.9 x 107 = 56.19
1072 = 0.01 1077 = 0.1
519.4 x 1079 = 0.5194 294.9 + 107" = 2949
1077 =0.1 9% 10 =90
107 = 0.0001 107 = 0.001
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